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. out the saldmr My mfe told me |

~ that there iz some E‘Vll in our| = k:ng isn't hones

kmgdc}m Crops ‘have heen-'-'-' - has lost his good

ruined and wells ‘have been|
poisoned! ‘When the ‘minister |
heard" this, he mstantly walked |
. up to the kmg and said;, “I guess|
~ somé enemy is, tn}qng o create|
_ Panic in our kmgdnmf sothatour| -

__attention gets diverted to solving

o oar internal problems. And then|
veiathe enemy will take advantage of S
i ZOUD mnar dzstuxbances and:-".f'_l_',_f'

s -attack 1 us,” said the minister,

~ Youseemtobe nghtf nodded the
~ king. 'What shall we do then? |
- The minister said, ‘In my|
~ opinion, we should nol let our|
. . beople k.nnw that we suspect our
enemy. It may gwe rise to|
~_contempt. Instead ‘we ' should |

 distribute food and water among

- our people and tell them that the |
- crops might have been damaged |

because of same disease.

Maanwhﬂe, 4wl disguise -

- myself as an ﬁld man and fry to
find out the truth’ The _king
_agreed.  That evemng, the
minister chsgulsed himself as a
~ poor old man and came out of
the palace stealthlly

The Mmlster went to a farmer 5

o '}-__house and called ‘ont S Reaarl

us! said one of

‘the other. Eve
there naddedma

~a while, the R0

prepared to leav
disguised as the

~ watching  them

following the tv
When they came
one of the young
have provoked
against their k
continue the sam

_ couple of days, th
. will revolt agair
~Then we shoul

king,” and that wc
appropriate mom
laughed the other
The Minister hea
behind a tree, T
men went inside a
minister came bac
and informed the
wicked plan o
kingdom. Instant]
rode to the small
two ‘men are

captured - them.
morning, the
brought out in t
their evil ©vplan



UNFESS asuaﬁd in t}m smw?
{E) Reveal

(4] B&li&v&d

ﬁnd sut mhe:har there is any grammatical

i it The e error, if any, will be in one part

thi_e:;fe is no emor, seélect No error' a
re the errors of punctuation, if an any)

(3 the surprised crow./{4) No error (5)

nmer afternoon /(1) the queen and her mmd

"ut_ for a stmll !(3] in the palace gardens /(4)

a:ut aWay the }ackal /(1) became fat and
cause /(2) the lion was a good hunter and
-left_‘a generous share for his friends./(4) No

I _t called out tu (1)/ the villagers in his
(2)/ and it all came eagerly (3)/ to see what
h him./(4) No error (5)
:6-30] In the foﬂomng passage, -there are

mted below the passage and against
ds are suggested one of which fits the

- -_: mglt ,a.rlv the GPPGSITF in |

{31*-351 On Lﬁﬁse qumuans read ﬁhe :
{fmﬁm Saieci the part with the 8Iror as your

- l'-‘f“lﬁkl}’ A1) come inside and /(2) caught |

oria t&I}' and out the appropriate word in



B e pmm%awﬁ
mmmm* |
: E!?“ S L
Cates Mﬂ“"ﬂ
8) N of these

. e law Detwues m
-Wkwmﬂﬁha
' ‘Maha ?m & l‘ g
merh wsoun will be
| ..:msa aisd 3§ n‘:iﬁifsm

whirh 18 kmh Mu
of the spoed of the 1rgel
& distance which is 16
l:iun that travelied by th
{117 bours . (2) 8 hea
(3] 6 howrs. 141 8 ban
{5] None of these
Directions {47-56) :
‘gome in place of f}‘m
mark {7} in  the |
- questions ! _
« 60% of 540+ 45% of ? =
1) 360 (2)320
{3y 340 {4) 280
(5] 300

- the end of 4 months From the -u.:ﬁﬂ*i.ﬂxs-iw"m 12&5
,*Jﬁf jﬁb m‘m c m . [ B = F e B S




16D, what {5
n scheme A 7

oo (G Sh
e of these =

Ve ratio between the side

rS':_IB. ) el Whﬂt is the e
ﬁ_gﬁam",?-{in-mij i
(2)324

. (4)576 _:

tece of work in 30 days
40 days respectively. They
d working together and |

ew days B left. After that A
h the remaining work
After how many days

dre BI_TEIIg'Ed in
rder from left to
1l the vowels are

the sumi

rnma ter of an .EQuilaterﬁl
1€ 15 40 m less than the |
ter of a square. f the |

triangle and the side of a |

B ¢an independently

ththe next alphabet |

glish alphabetical

- Directions (69-73) .
- Jollowing information a

the given questions.

. : J'.KF -L: M: N.'G} P d
~ Sitting around a cire

facing  the centre
necessarily in the same

- Only three people sit b

" and P N sits third 1o th

69. Wh

70.

71.

0. O is neither an i
neighbour of Q nor p
}is an immediate neigh

Only three people sit

Jand K. :
Only one person sits b
and M, M is not an i
neighbour of Q.

10 among the follo
‘second to the left of O 7
(1) K (2)L
(B) M (4)P
(5)Q o
Who amongst the
represent the i1
neighbours of Q ?

(1) M, K (2) K, N
(3) L, K (4)], N
(9) ], L |

Which amongst the foll

true regarding L, as per

arrangement 7

(1} Only three people sit
Oand L

(2} None of the given st
is true |

(3) N sits second to the |

(4) P is one of the in

et h Al HE I v ] w i



Directions (81:85) : In these questions, relationship
betwaen different elements 1s shown in the statements.
The statements are Jollowed by conclusions. Study'the|
conclusions based on the given statements and select |

the appropriate answer
Give answer; : -
- (1) H either conclusion I or II is true
(2) Ifonly conclugion 1is true
- (3) If both conclusions I and II are true
_ (4) If neither conclusion I nor 11 is true -
(3}l only conclusion Il is true
81. Statement :F<R<L<S>0
~~ Conclusions: L. F<S§ 1L OsR
82. Statement HUSCaNcn>]
- Conclusions: 1. Q > U I.C< ]
83, Statement :G>R=0>W = 7
~ Conclusions : I. G>W = mw=gG
84, Statemenis :K>E>R=A:E<B |
_ Conclusions :1.K=A  ILA<B
85. Statement :D=0<LsP> H :
- Conclusions : I, P<D  ILO>H

. Directions (86-90) : In these questions, a group of
- numbers/symbols followed by five combinations of
mter codes Is given. You have to Jfind out which of the

- combinations correctly represents the group of
nhumbers/symbols based on the given coding system
*and the conditions and mark that combination as your:

(R

1

S | ELR 6* @43 | & #7192 5la

" Conditions :

() If the first and the third éle_me;nts. are symbols |

. then their codes are to be interchanged,

: I[ﬁ) Ifan Uddnumhgr S e e R R VT T R Tand L el —=

g L —

91,

- 92.

93.

94,

95,

ﬁDm e v T o e e ol v R S

P —
TN

L =

2 b



